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A JIEXE

HH: ACEAHER
2l MRS K2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 16,584,312 22,202,670 A5,618,358
= 2,910,000
== 308,450
Al 13,365,862
s ENS RSS! 7,634,900 10,824,160 A3,189,260
= 2,910,000
< 231,000
Al 4,493,900
SHHEX = X2k 3,383,900 2,601,160 782,740
= 210,000
Al 3,173,900
e 28 =s 29 13,900 202,160 188,260
201 Ler=23 | 13,900 202,160 188,260
01 At2teltl 1,500 2,160 660
Ot 2225 29 1,500
02 S3=gHl 12,400 200,000 187,600
o1ty 208 s 22 12,400
AHHEX JIBPAIE = XI2te 110,000 310,000 200,000
201 223 10,000 10,000 0
2 S5=2g4l 10,000 10,000 0
O&HEI JIEAIE T2 10,000
401 Al HIZ 2018 100,000 300,000 A.200,000
01 Al&H| 100,000 300,000 200,000
O/FAEA JIEAIE T2 100,000
T HAEEA 2B LMFJAIE EX A 210,000 1,669,000 1,459,000
= 210,000
401 Al HIZL 201 210,000 1,669,000 1,459,000
= 210,000
01 AlZ8| 210,000 1,667,000 A1,457,000
O HMAEEA 2ENFAIE XA 210,000
= 210,000
SHIA 22X Y AL 3,000,000 0 3,000,000
401 AlZHIZ SO 3,000,000 0 3,000,000
01 A28l 3,000,000 0 3,000,000
OFHIA 2X 0He 3,000,000
CSHEMY JYUSYSE e S22 US 50,000 0 50,000
207 ARl 50,000 0 50,000
01 H2ESHI 50,000 0 50,000
OL=ZNE L ZUHUSE ?(et SZ U
= 50,000
SHEFTH AP K2 1,320,000 8,223,000 26,903,000
23 HEBIXA(HF1ae THEAIY) 100,000 4,315,000 /4,215,000
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A TH AL X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 100,000 4,315,000 /4,215,000
01 Al&H| 100,000 4,310,000 24,210,000
Oc=3H MEHIXH 100,000
AHH A SEESHE A 1,000,000 2,948,000 1,948,000
401 AlEHIKL =] 1,000,000 2,948,000 1,948,000
01 AlZH| 1,000,000 2,500,000 1,500,000
OXHE Se2hly A 1,000,000
2300 A7 SSIIENE 25 220,000 960,000 AT740,000
307 212+01& 220,000 310,000 /90,000
05 2IR”tRIE = 220,000 0 220,000
0430 XX SSIIHAE 5 220,000
AR B HH L5 2,931,000 0 2,931,000
= 2,700,000
== 231,000
SEBHME S 1,000,000 0 1,000,000
= 1,000,000
401 Al HIZL S 0HYI 1,000,000 0 1,000,000
= 1,000,000
01 AlZ2H| 1,000,000 0 1,000,000
OSE2AMNAME 2FA 1,000,000
= 1,000,000
FAHEA FEH2oME AE 1,931,000 0 1,931,000
= 1,700,000
= 231,000
401 Al HIZ S OHbI 1,931,000 0 1,931,000
= 1,700,000
= 231,000
01 Al&HI 1,931,000 0 1,931,000
OXFNAHI HFH23HE AHE 1,931,000
= 1,700,000
S 231,000
2| 3,372,140 2,132,700 1,239,440
s 77,450
Al 3,294,690
JNEEXN 2 39,800 49,000 29,200
g sl gdst 39,800 49,000 29,200
201 2= 18,000 27,000 29,000
01 AtR2t2lt] 18,000 27,000 29,000
OJIHFX 2= MH 10,000
OJIgRXI 282 Izl 8,000
203 HR=AH] 1,800 2,000 A200
03 A= PR F&IH| 1,800 2,000 A200
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A JIEXE
FH: Ngs2)gxdE

el SAJlgsd A (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 11,860
Al 27,680
02 QI AN X 39,540 21,100 18,440
OFAJIY JI=A SXE AE A 39,540
== 11,860
Al 27,680
S| oHAAE WA XHA 300,000 300,000
308 AXIHMSOIA 300,000 300,000
18 S| 2SO BHASAIE 300,000 300,000
OzaJY HAAE HE XA 300,000
S0 IA4E X 2FAE =4 1,580,000 0 1,580,000
401 Al HIZL S 0HYI 1,580,000 0 1,580,000
01 A&l 1,580,000 0 1,580,000
Ol & AAIEH 24 80,000
OXZANE =4 100,000
OxdE =4 1,400,000
NIAHEIIHIZLIANE 2 5EY| 500,000 0 500,000
HAHSOIHIZLIADS] 23 AlIdEs 500,000 0 500,000
403 THAIEMS =01 500,000 0 500,000
04 XISCHEHON CHEE Ak=E X 500,000 0 500,000
OHIAIEHRIHI ZLIALHSE] 2ted AlE 24 500,000
HY2IZHI(OIS A1) 37,272 45,810 A8,538
[2ZHI(JIGXI&n) 37,272 45,810 8,538
J123HI(OIZ R 37,272 45,810 8,538
201 2= 21,440 27,522 26,082
01 AFS2t2ltl 20,440 24,522 N4,082
oget=EHI 10,368
Oo=gtl 9,072
o=g=¢ 1,000
02 S3=24Hl 1,000 3,000 A2,000
o0zE2= & HA 1,000
202 O] 13,132 14,688 A1,55%6
01 =LHOILI 13,132 14,688 A1,556
OJl=g 280l 13,132
203 B2 =L 2,700 3,600 A900
M FA2ELRFEI 2,700 3,600 A000
ORAM2EER=2
225,000& 123 2,700
HREs(OIgXA) 5,540,000 9,200,000 23,660,000
WRHHXIZ (OIS XA 5,540,000 9,200,000 3,660,000
SHEEIIZ N& 500,000 500,000 0
RISHES 500,000 500,000 0




A JIEXR
M HRSSOIGRAAM)
SRl LIEHHXIE (01 XIRAD) (S &)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
(UI=ESE==) 500,000 500,000 0
OFXEEIIZ XE 500,000
SMIgFEIIs A 2,000,000 3,400,000 1,400,000
2 IISsdE3 2,000,000 3,400,000 1,400,000
01 JISdE=s 2,000,000 3,400,000 1,400,000
osxJgsdlIs A& 2,000,000
CH&HH==XI OIS AL XI& 800,000 5,300,000 24,500,000
701 JIEt2l HISEES 800,000 5,300,000 24,500,000
03 BIILELEIIAHNE2HES 800,000 5,300,000 24,500,000
OUdi=Xl OI&ZAt XI& 800,000
HeEsS+ZAAD|2H(SHAEA ) AMS0IM XA 2,240,000 0 2,240,000
701 JIERIHISEES 2,240,000 0 2,240,000
03 BIILELEIIAHN=2HES 2,240,000 0 2,240,000
OaXtagd AF0IH 2,240,000




